TI6FE 2EREFFRERFEERETAR RT#

1 FEEBE(EES9E) 6A2H(H) RRaESHAREEEHES
(1) 5 1 plks
B H [ERT S FES TN Sk
100m 147 = Kk | e 11.59
200m 14 +1E KR | LR 24.08
400m 17 /NEP R | e 1:13.07
300m 17 Ok 5k [BEdedb]  2:29.26
1500m 17 A TRk | RokEEu 4:38.96
5000m 1% RS EAE 24:49.12
3000mSC 17 HFA mak | RkEEE] 10:46.22
7E e Wk 117 = 3 [ T 1m60
& & Bk 147 AN EES 4m26
= Bk 117 e ik g Eievs 10m20
AL A% 117 I PN D i 11m38
P B 117 IR N R 34m00
(2) 21 Blks
i H [ERTA S CEZ TN Fk
100m 147 JplE=Ss N 15.79
400m 1% iz RIS 1:09.25
800m 147 ZNEEEE A 2:42.50
2 N2 yhR—/ (834[E) 6H9H(R) BIL TSR
(1) 5 7Rl
AL 64 — 42 fA LR
(2) £ 1 A
B2 L
3 EHIR(FE56E]) 6H9H (B) RILFEBR BEERE
(1) 5 1 sk
1 fr 2 A7 3 7
[SH AR B Y ES S A FA LI P
AN A | FEGHEE)| a0 L) [ECE Gire i ve) Fepk G Eie )
(2) 21 Blis
1 fr 2 A7 3 7
[SH (A Hig A [ e e FA LI P
BN 7 VA | Zm Gl | LN (s (g ) | FCET R e ) AR (P6 5%)
4 YI7rWF=A(E57H) 6A9H(H) ZEHERENARRERSE
(1) 51 Bl
H E-SHELHR) @ — 2 BHA R
(2) 21 s
(WA -SEH(FERE ) RBEER
5 NRIVb(FE26[E]) 6H9H (H) HWEWMN —=VITELZ—
(1) 5B 1 ks
1 fr 2 i 3 i
[ENCIS R - PR CRA F) [0 A - BRAS G o) | o6 11 < SR s ) | 55 2 « A FH (RS B
A 7 VA (R B WEE | Ly (F2s ) BA KA RE)
(2) £ 1 lis
1 fr 2 i 3 i
[N A0 - AR )| B EE (KA FE)
AN T VA I E (A T) A () 1T) Jih B (R )
6 BRAEFER

STl




